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FINDING SLOPE REVIEW

Source

Procedure

Example

Graph

Use the formula: Rise

Run

Rise=>» change in the Sf- \V/® | lsle 2 (up or down)
Run=> change in the _ )= g’g |Qe g (left or right)

Start at a point further _E&, rise

down to match the L i of the second
point. Then run to the
— POt Then
SIV TF I \:‘::_5

or

if you can!!

m_-——-..

=
= 8




Two
Points

Use the formula: Y;-Y;
X2 -Xy

Then m if you can!!

Ordered pairs: (X1, Y1) and (X, Yz2)

X2

(-5, 12) & (9, -20)

Mo

5,2 (9 —29)
—2071=_ -32C

q9+5

]

|



Table

Find the change in the ‘;)-' va ' UCSeirsT! x |y
inthe __ M—=\JOQ RS, .
Then find the change |S:; ::hOeND. -(p <' 2 -22
Write as “Change in Y” = b < :g _-160
. Cflange inX S (o
Then if you can!!!

_L}‘-:
Y




Equation

Equation needs to be in :m )L + b format

which is slop‘e'-’intercept form.

m= 5 ll% é

e e

cet

If not in slope-intercept form:

1. Move the

from the left side to

the right side of the equation
2. Divide by the coefficient in front of by ALL

terms in the equation.
3, SIQ‘@.\%

if you can!!

bx-2y=18

=




Point - Slope
Formula




y-y1 =m(X-Xq)

What does it stand for?
y:
y1 : Y-value from ordered pair
m: slope
X1 : x-value from your ordered pair

X.:




Writing an equation given a point and the slope

1. Plug in the ordered pair for X; and Y; and the
slope in for m

2. Solve the equation for Y




Writing an equation given a point and the slope
(-4,6)and m = -
ERE S
3 j- TN
Y-(p=-3(X4)
A= P

Tl
Y=~




Writing an equation given a point and the slope

(12,-5)and m = 1/2

- =0 (XX)

X_




Writing an equation given a point and the slope

(-3,-7)and m=0

[




Writing an equation given a point and the slope

@mis undefined.

X=2






















